Sheet #1

25.100 l

24.750 + 0.250 + 0.100 =

Maximum-Material-Boundary

0
&
|
[Te)
I~
<
N
Q

constant

0.100+0.125

o
o
o
o
+
o
o
—
o

jueISUO0D Yibua)

=)
¢
g
(]
£
8
©
s
=

>
2
=
()
£
o
()
(=]
(=]
=
(%]
©
()
o
(8]
(]
o
()
i=
T

225.100

0.100+0.500

0.100+0.375

0.100+0.250

25.100

24.750 + 0.250 + 0.100 =

Least-Material-Boundary

To
S
A
To
o
<
N
Q

224.725
0.100+0.125

MMB

224.600
0.100+0.000

MMB

Juelsu0d yibus)

a
[¢]
8
©
£
8
©
=
3

224 .500

The increasing geometry

o
o
n
o
+
o
o
L
o

224.975

0.100+4+0.375

@24 .850

0.100+0.250



